

( 2007 ) 042

$v_n$   $q = \frac{1}{2}$   $v_0 = 1$   $(v_n)_n$  (1)

$S'_n = v_0 + v_1 + \dots + v_{n-1}$   $S_n = u_0 + \dots + u_{n-1}$   $u_n = v_n - \frac{n}{2}$  (2)

$\lim_{n \rightarrow +\infty} S_n$   $S_n = 2[1 - (\frac{1}{2})^n] - \frac{n(n-1)}{4}$   $n$   $S'_n$

( 2002 / 2001 ) 043

$v_n = 4u_n - 6n + 15$   $u_0 = 1$   $u_{n+1} = \frac{u_n}{3} + n - 1$  :  $(v_n)_n$   $(u_n)_n$

$v_n$   $\frac{1}{3}$   $(v_n)_n$  (1)

$(u_n)_n$   $u_n = \frac{19}{4}(\frac{1}{3})^n + \frac{3}{2}n - \frac{15}{4}$  : (2)

$S_n = u_0 + u_1 + \dots + u_{n-1} = \frac{3}{4}n^2 - \frac{9}{2}n - \frac{57}{8}(\frac{1}{3})^n + \frac{57}{8}$  : (3)

$u_0 = 1$   $u_{n+1} = \frac{1}{2}(\frac{n+2}{n+1})^2 \cdot u_n$  :  $(u_n)_n$  044

$u_2$   $u_1$  (1)

$v_0$   $(v_n)_n$   $v_n = \frac{u_n}{(n+1)^2}$  : (2)

$n$   $u_n$   $n$   $v_n$  (

( 2001/2000 )  $S_n = \frac{u_0}{1^2} + \frac{u_1}{2^2} + \frac{u_2}{3^2} \dots + \frac{u_n}{(n+1)^2}$  :  $n$  (3)

$-1 < a < 1$  :  $u_{n+1} = a^2 u_n + 2(1-a^2)$   $u_0 = 1$  :  $(u_n)_n$  045

$u_3$   $u_2$   $u_1$  (1)

$v_0$   $(v_n)_n$   $v_n = u_n - 2$  : (2)

( 2000/1999 )  $\lim_{n \rightarrow +\infty} u_n$  :  $a$   $n$   $u_n$  (3)

( 2000 / 1999 ) 046

12000 ( )

800 1 (1)

$n+1$   $u_n$   $n$   $u_1$  (

5 % 2 (2)

$n+1$   $v_n$   $n$   $v_1$  (

$((1,05)^{10} \approx 1,6)$  .2 (

(3)

$u_0 < -2$   $u_{n+1} = \frac{3}{4}u_n - \frac{1}{2}$  :  $(u_n)_{n \in \mathbb{N}}$  047

$\mathbb{N}$   $n$   $u_n < -2$  : (1)

( 98/97 )  $(u_n)_{n \in \mathbb{N}}$  (2)

$\lim_{n \rightarrow +\infty} u_n$   $u_{n+1} = (u_0 + 2) \cdot (\frac{3}{4})^{n+1} - 2$  : (3)

$u_1 = 2$   $u_0 = 1$   $u_{n+2} = \frac{3}{2}u_{n+1} - \frac{1}{2}u_n$  :  $(v_n)_n$   $(u_n)_n$  048

$S_n = v_0 + v_1 + \dots + v_{n-1}$   $(v_n)_n$   $v_n = u_{n+1} - u_n$  : (1)

( 97/96 )  $\lim_{n \rightarrow +\infty} u_n$   $u_n = 2(1 - (\frac{1}{2})^n) + 1$  : (2)

$u_0 = 2$   $u_{n+1} = \frac{-9}{6+u_n}$  :  $(u_n)_{n \in \mathbb{N}}$  033

$u_n > -3$  :  $\mathbb{N}$   $n$  (1)

$(u_n)_{n \in \mathbb{N}}$  (2)

034

$d_n = \frac{(-1)^n}{n}$   $c_n = \frac{3n^2 + n - 5}{5 + 2n^2}$   $b_n = \frac{3^n + 5^n}{3^n - 2 \cdot 5^n}$   $a_n = 2^n \cdot 3^{1-n}$

$u_n = \frac{n}{n^2+1} + \frac{n}{n^2+2} + \dots + \frac{n}{n^2+n}$  035

$\lim_{n \rightarrow +\infty} u_n$   $\forall n \in \mathbb{N}^* : \frac{n^2}{n^2+n} \leq u_n \leq \frac{n^2}{n^2+1}$  :

$u_0 = 2$   $u_{n+1} = \frac{5u_n - 3}{u_n + 1}$  :  $(u_n)_n$  036

$f(I)$   $I = [2, 3]$   $f(x) = \frac{5x-3}{x+1}$  (1)

$(\forall n \in \mathbb{N}^*) : 2 < u_n < 3$  : (2)

$\lim_{n \rightarrow +\infty} u_n$   $(u_n)_{n \in \mathbb{N}}$  (3)

$125 \cdot u_7 = 8 \cdot u_4$  :  $q$   $(u_n)_{n \in \mathbb{N}}$  037

$q$  (1)

( 2005 )  $u_3 = \frac{4}{25}$  :  $u_0$  (2)

$\lim_{n \rightarrow +\infty} S_n$   $S_n = u_0 + u_1 + \dots + u_{n-1} = \frac{25}{6}(1 - (\frac{2}{5})^n)$  : (

$v_n = u_n - 25$   $u_{n+1} = \frac{1}{5}u_n + 20$   $u_0 = 30$  : 038

( 2008 )  $\frac{1}{5}$   $(v_n)_n$  (1)

$\lim_{n \rightarrow +\infty} u_n$   $u_n = 25 + 5(\frac{1}{5})^n$   $n$   $v_n$  (

2007 + n  $u_n$  (2)

25,0016

$v_n = \frac{u_n - 4}{u_n + 1}$   $u_{n+1} = \frac{5u_n + 4}{u_n + 2}$   $u_0 = 0$  039

( 2008 )  $n$   $v_n$   $v_0$   $\frac{1}{6}$   $(v_n)_n$  (1)

$\lim_{n \rightarrow +\infty} u_n$   $u_n = \frac{4(1 - (\frac{1}{6})^n)}{1 + 4(\frac{1}{6})^n}$   $u_n = \frac{4 + v_n}{1 - v_n}$  (2)

( 2003 ) 040

2003  $u_0 = 150000 Dh$

2003 + n  $u_n$  10 %

$n$   $u_n$   $u_{n-1}$   $u_n$   $u_2$   $u_1$  (1)

2003 (2)

بالتوفيق 041

$u_n = \sqrt{n+1} - \sqrt{n}$

$\lim_{n \rightarrow +\infty} u_n$   $\forall n \in \mathbb{N} : 0 \leq u_n \leq \frac{1}{2\sqrt{n}}$

:

056

$$\begin{aligned} & \cdot u_0 + u_1 + u_2 = \frac{7}{2} \quad u_0 = 2 \quad r > 0 \quad (u_n)_{n \in \mathbb{N}} \\ & \cdot r = \frac{1}{2} : \quad (1) \\ & \cdot (v_n)_n \quad v_0 \quad \cdot v_n = \ln(u_n) \quad (2) \\ & \cdot S_n = \frac{n}{2}(-n+3)\ln 2 : \quad S_n = v_0 + v_1 + \dots + v_{n-1} \quad ( \\ & \cdot S_n + 9\ln 2 \leq 0 \quad n \quad ( \end{aligned}$$

057

$$\begin{aligned} & 100000 \quad 5000 \\ & 5\% \quad 5000 \\ & \cdot n \quad u_n \quad u_1 : \\ & \cdot n \quad u_n \quad u_{n-1} \quad u_n \quad (1) \\ & \cdot n \quad (2) \\ & \cdot 30\% \quad (3) \end{aligned}$$

058

$$\begin{aligned} & \cdot u_{n+2} = \frac{2}{5}u_{n+1} - \frac{1}{25}u_n \quad u_1 = 1 \quad u_0 = 0 : \quad (u_n) \\ & \cdot n \quad v_n \quad \frac{1}{5} \quad v_n = u_{n+1} - \frac{1}{5}u_n \quad (1) \\ & \cdot 5 \quad w_n = 5^n u_n \quad (2) \\ & \cdot n \quad u_n \quad n \quad w_n \quad ( \\ & \cdot \forall n \in \mathbb{N}^* : 0 < u_{n+1} < \frac{2}{5}u_n : \quad (3) \\ & \cdot \lim_{n \rightarrow +\infty} u_n \quad \forall n \in \mathbb{N}^* : 0 < u_n \leq \left(\frac{2}{5}\right)^{n-1} \quad ( \end{aligned}$$

059

$$\begin{aligned} & \cdot v_n = 3u_n + 1 \quad u_0 = 2 \quad u_{n+1} = \frac{1}{4}u_n - \frac{1}{4} \quad (v_n)_n \quad (u_n) \\ & \cdot v_0 \quad q \quad (v_n)_n \quad (1) \\ & \cdot \lim_{n \rightarrow +\infty} u_n \quad u_n = \frac{1}{3}\left(7\left(\frac{1}{4}\right)^n - 1\right) \quad n \quad v_n \quad (2) \\ & \cdot S_n = v_0 + v_1 + \dots + v_{n-1} \quad (3) \\ & \lim_{n \rightarrow +\infty} S_n' \quad S_n' = u_0 + u_1 + \dots + u_{n-1} \quad \cdot n \quad S_n \end{aligned}$$

060

$$S_n = u_1 + u_2 + \dots + u_n : \quad n \quad n \in \mathbb{N}^*, u_n = n + \left(\frac{1}{3}\right)^n$$

061

$$\begin{aligned} & U_n = \frac{1}{\sqrt{1}} + \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{3}} + \dots + \frac{1}{\sqrt{n-1}} + \frac{1}{\sqrt{n}} : \\ & \cdot \forall x > 0 : \frac{1}{\sqrt{x}} > 2(\sqrt{x+1} - \sqrt{x}) : \quad (1) \\ & \cdot (U_n) \quad \forall n \geq 1 : U_n > 2\sqrt{n+1} - 2 : \quad (2) \end{aligned}$$

062

$$\begin{aligned} & \cdot f(x) = x \quad \mathbb{R} \quad \cdot f(x) = x(\sqrt{x} - 2)^2 \quad (1) \\ & \cdot f([0,1]) \quad \forall x \in \mathbb{R}^{+*} : f'(x) = 2(\sqrt{x} - 1)(\sqrt{x} - 2) \quad (2) \\ & \cdot \forall n \in \mathbb{N} : u_n \in [0,1] \quad \cdot u_0 = \frac{1}{4} \quad u_{n+1} = f(u_n) \quad (3) \\ & \cdot u_n \quad (4) \end{aligned}$$

049

$$\begin{aligned} & \cdot u_0 = \ln \sqrt{2} \quad r = \ln\left(\frac{\sqrt{2}}{2}\right) \quad (u_n)_n \\ & \cdot u_0 + u_1 + \dots + u_{19} = -85 \ln 2 : \quad u_0 \quad (1) \\ & \cdot v_n = e^{u_n} : \quad (v_n)_n \quad (2) \\ & \cdot q = \frac{\sqrt{2}}{2} \quad (v_n)_n \quad ( \\ & \lim_{n \rightarrow +\infty} S_n \quad \cdot S_n = \frac{2\sqrt{2}}{2-\sqrt{2}}\left(1 - \left(\frac{\sqrt{2}}{2}\right)^n\right) : \quad S_n = v_0 + v_1 + \dots + v_{n-1} \quad ( \end{aligned}$$

050

$$\begin{aligned} & \cdot 343u_8 = 64u_5 \quad u_0 = 3 \quad q \quad (u_n)_{n \in \mathbb{N}} \\ & \cdot n \quad u_n \quad q = \frac{4}{7} \quad (1) \\ & \cdot \lim_{n \rightarrow +\infty} S_n \quad n \quad S_n \quad S_n = u_0 + u_1 + \dots + u_{n-1} \quad (2) \end{aligned}$$

051

$$\begin{aligned} & \cdot 125u_7 = 8u_4 \quad q \quad (u_n)_{n \in \mathbb{N}} \\ & \cdot q \quad (1) \\ & \cdot u_3 = \frac{4}{25} \quad u_0 \quad (2) \\ & \lim_{n \rightarrow +\infty} S_n \quad S_n = \frac{25}{6}\left(1 - \left(\frac{2}{5}\right)^n\right) \quad S_n = u_0 + u_1 + \dots + u_{n-1} \quad ( \end{aligned}$$

052

$$\begin{aligned} & \cdot I = [0, \sqrt{3}] \quad f(x) = \frac{9x}{x^2 + 6} \\ & \cdot f(I) \subset I \quad I \quad f \quad (1) \\ & \cdot u_0 = 1 \quad u_{n+1} = \frac{9u_n}{u_n^2 + 6} : \quad (2) \\ & \cdot \forall n \in \mathbb{N} : u_n \in I \quad ( \\ & \cdot (u_n) \quad ( \end{aligned}$$

بالتوفيق

053

$$\begin{aligned} & \cdot v_n = 1 - \frac{u_n}{n} \quad u_n = 2\left(\frac{1}{2}\right)^{n-1} : \\ & \cdot \lim_{n \rightarrow +\infty} v_n \quad n \quad v_n \quad (1) \\ & \cdot S'_n = v_1 + 2v_2 + 3v_3 + \dots + nv_n \quad S_n = u_1 + u_2 + \dots + u_n \quad (2) \\ & \cdot S'_{10} \quad S_{10} \quad S'_n + S_n = \frac{n(n+1)}{2} \end{aligned}$$

054

$$\begin{aligned} & \cdot q \quad u_0 \quad (u_n)_{n \in \mathbb{N}} \\ & \cdot u_4 = \frac{320}{243} \quad u_1 = \frac{40}{9} : \quad u_0 \quad q \quad (1) \\ & \cdot S_n = u_0 + u_1 + \dots + u_{n-1} : \quad u_n = \frac{20}{3}\left(\frac{2}{3}\right)^n : \quad (2) \\ & \cdot u_n \leq 10^{-25} : \quad n \quad p \quad (3) \\ & \cdot S_n \geq 20 - 3 \cdot 10^{-25} : \quad p \quad n \quad ( \end{aligned}$$

055

$$\begin{aligned} & \cdot u_0 = 1 \quad r = \ln(2) \quad (u_n)_n \\ & \cdot S_n = u_0 + u_1 + \dots + u_{n-1} \quad n \quad u_2 \quad u_1 \quad (1) \\ & \cdot n \quad v_n \quad \frac{1}{2} \quad (v_n) \quad v_n = e^{-u_n} \quad (2) \\ & \cdot \lim_{n \rightarrow +\infty} S'_n \quad n \quad S'_n \quad S'_n = v_0 + v_1 + \dots + v_{n-1} \quad ( \end{aligned}$$